27 17"7 "0 K,u7 2"2 702

— 1912 KD JINTA K29 MR KT 700 X920 K97 D900 339073 907
Our text reads: 17122 R NI X297 R K57 799 K920 K97 900

OVERVIEW
827 challenged 1" who maintained XM 817 17192 X9W 7801; indicating that X297
maintains JXM? X177 X9 5"aw axnn. However, asks the X3, we find elsewhere' that
X127 maintains XA X7 9"aw ARAA. Our NMvOIN offers us the correct reading as to
what X217 said.

29113 29 9N K29 9N NN 139092 RY)

But our text does not read; ‘but 829 said in the name of 1'%’ that X7 2"aw nAxmn
R,

SUMMARY
We are not 07 that 37 K X327 KR XM, but merely X297 92K ).

THINKING IT OVER
What would be the justification for having the X073 read 1"9 X X327 KR?

L ms.
* mooIn rejects this X073 (of 1" 9K X271 7»K), for then there is no contradiction in the rulings of X2, for X271 was
merely citing the opinion of 1" (that 7Rn7 8177 9" 2w 7RMA), but not his own (which may be aRMA 817 R? 9"2w 7RMN)
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